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®Uni 4 Exam Review 2017

Short Answer

Solve the system of equations using substitution.
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7. Tell whether the system has no solution, one solution, or infinitely many solution.
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paid the admission fees for lfis six pephews-and rented five pairs of ic s. He was charged $32.00.
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Is (-3, 1) a solution of the system of linear inequalities? \ Z 3(- S)H 2 l 2_ S(,-?)B ;7
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The grocery store sells apples for $4.50 a pound and bananas for $4.00 a pound. Write an equation in

standard form for the weights of apples a and bananas b that a customer could buy with $16.
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At the beginning of the year, you have a balance @$350~in~yeusbank account. Each month you deposit $50.
(a) Write an equation for this situation. =~ "\ _ §O t+ <
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Are the graphs of the lines in the pair parallel? Show work to back up your answer.
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Write the equation of a line in Slope-intercept f& that is perpendicular to the given line and that

passes through the given point. = >
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21. Solve the below system of linear equations by graphing.
y=-1x+3

22. Solve thé below system of linear equations by graphing. / _ ‘ ;>
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23. Write the 1\ alities from the graph below.
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24. Solve the following system of ifilequalities by graphing
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